CepuA 57000

LIAHFOBBIE DUTUHIMA C METATTIMHECKM IEMOHTAXKHBIM KOJTbLIOM
PUSHAN FITTINGSWITH METALCOLLET



Cepwusa 57000

JAIGNEP

TexHunyeckme xapaktepuctmku / Technical Characteristics

Yactu u matepumansl / Component Parts and Materials

1 HuKnnepoBaHHbIV NaTyHHbIN KOpMyC

2 HuknnepoBaHHOe NaTyHHOE JeMOHTaXHoe KOMbLo
3 HukunepoBaHHan natyHHaa ¢rKcupytoLas BTyKka
4 LlaHra u3 Hep»kaBetoLLen ctanu

5 TexHoMnonMmepHoe onopHoe KosbLio

6 YnnotHeHne NBR (FKM unn EPDM no 3anpocy)

7 YnnotHeHune n3 NBR (FKM unu EPDM no 3anpocy)

[asneHwue / Pressures

MuHuMmanbHoe gasneHue / Minimum pressure: -0.99 bar (-0.099 MPa)
MakcumanbHoe aasneHve / Maximum pressure: 15 bar (1.5 MPa)

Pe3bbbl / Threads

KoHunyeckas pesbba “short”

“Short” taper thread.

KoHunueckas I1SO 7.1, BS 21, DIN 2999

Tapered gas in conformity with ISO7.1, BS 21, DIN 2999.
Uunungpuryeckan 1SO 228 Classe A

Parallel gas in conformity with ISO 228 Class A.

CoepuHaemble Tpyb6km / Connection Tubes

MnacTtukoBble TPY6KM:

PAG6, PA11, PA12, NMonuatuneH, *MonuypetaH, PTFE, FEP.

*[InA nonuypeTaHoBbIX TPY6 TpebyeTca MUHUManbHasA TBepAOCTb 98
shore.

Plastic tubes:

PA6, PA11, PA12, Polyethylene, *Polyurethane, PTFE, FEP.

*For Polyurethane hoses it is required a minimum hardness of

FKM vnn EPDM
no 3anpocy

IF REQUESTED
FKM OR EPDM

1 Nickel-plated brass Body

2 Nickel-plated brass Collet

3 Nickel-plated brass Capsule

4 Steel aisi 301 Clamping washer

5 Technopolymeric Safety ring

6 Nbr Lip seal (if requested FKM)

7 Nbr Thread packing (if requested FKM)

Temnepatypa / Temperatures

MwuHumanbHaa Temnepatypa / Minimum temperature: -20°C
MakcrmanbHaa Temnepatypa / Maximum temperature: +80 °C
Ona ynnotHeHuin n3 FKM / With FKM Seals

MwuHumanbHas Temnepatypa / Minimum temperature: -15°C

MakcumanbHas TemnepaTtypa npv NPoAomKUTeNbHON paboTe:
Maximum temperature in continuos: +130°C
MakcumanbHas TemnepaTtypa npv KpaTKOBpeMeHHo paboTe:

Maximum temperature for short term: +185°C
Con Guarnizioni EPDM / With EPDM Seals
MwuHumanbHaa Temnepatypa / Minimum temperature: -40 °C

MakcumanbHas TemnepaTypa npu NPOAOIKUTENbHOM paboTe:
Maximum temperature in continuos: +130°C
MakcumanbHas TemnepaTypa npu KpaTKkoBpeMeHHoi paboTe:
Maximum temperature for short term: +160 °C

Pabouas cpepa / Fluids

OxaTblii Bo3gyx / Compressed air.
Bakyym / Vacuum

Bopa / Water

Map / Steam

03.2

Aignep ocTaBnAeT 3a co6oi NPaBO M3MEHATL MOAENN pPa3mepbl Ge3 yBeaoMneHNs.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMNPESIA 2013
UPDATED: APRIL 18, 2013



Cepuna57000

Pe3b6bl / Threads

KoHnyeckas pesbba “short” 6bina paspaboTtaHa uTo Obl MONYYMTb ClefytoLe NPUUMyLLecTBa:

+ YMEHbLUNTb OBLLYI0 LSIUHY

+ MEHbLUMI Pa3mep MOA raeuHbIi Koy B COMETaHUN C LUIIMHAPVYECKON pe3bboit

+ BO3MOXHOCTb COEAMHEHVIS C Pa3HBIMM BHYTPEHHUMY PE3b6AaMM KaK C KOHMUYECKOW TaK 1 LINHAPUYECKON
The “short” taper thread has been designed to offer the following advantages to the users:

- reduced overall lenght;

- smaller hex dimensions compared to the parallel threads;

- to allow the assembly with different female threads both taper as well as parallel;

Yy

NPT ISO7 ISO 7 ISO 228
NPTF BSPP BSPT BSP
PT PF
KoHunueckan LUnnnHapryeckan KoHunyueckas Linnnnpgpuueckas
Tapered Parallell Tapered Parallell

ObecneuynBaeT XOpOLWYK TepMETUYHOCTb C HeobpaboTaHHbIMMK
NoBepXHOCTAMM, 6e3 $acok U C packamy PasHbIX BUAOB U PasHbIX
pasmepos.

To ensure the right tightening also with
surfaces not perfectly flat, without spot-facing,

convex and with different kinds of chamfers or radius.

concave

CKOLLEHHbIN
Inclined

BHyTpeHHsAA dacka
Concave

BHelwwHAn dacka
Convex

Tabnuua KpyTawmMx momeHToB / Torque specifications

COPPIE DI SERRAGGIO PER FILETTATURE MASCHIO 1SO-228 CON OR
TORQUE TO MALE THREADS 1SO-228 WITH OR

COPPIE DI SERRAGGIO PER FILETTATURE MASCHIO “SHORT”
TORQUE TO MALE THREADS “SHORT”

MISURA COPPIA CONSIGLIATA Nm COPPIA DI ROTTURA Nm
MEASURE RECOMMENDEDTORGIUENM BREAKING TORQUIE N, MISURA ‘COPPIA MINIMA CONSIGLIATA Nm | COPPIA MASSIMA CONSIGLIATA Nm
M5 0,08 0,32 MEASURE RECOMMENDED MINIMUM TORQUE Nm | RECOMMENDED MAX TORQUE Nm
178 3 B 1/8 5 7
1/4 9 30 1/4 5 7
3/8 10 60 3/8 5 7
172 12 50 1/2 5 7

| VALORI DI ROTTURA POSSONO VARIARE IN BASE ALL'ARTICOLO
BREAKING VALUES MAY VARY ACCORDING TO THE ITEM

| VALORI DI ROTTURA POSSONO VARIARE IN BASE ALL'ARTICOLO
BREAKING VALUES MAY VARY ACCORDING TO THE ITEM

Aignep ocTaBnAeT 3a co6oit NPaBO M3MEHATb MOAENN Pa3mepbl Ge3 yBeJoMneHNs.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMNPESIA 2013
UPDATED: APRIL 18, 2013

03.3



Cepwusa 57000

Bce pe3bbbl 310N cepnn ( Takke M5) YKOMMNIEKTOBaHbI YNIOTHEHNAMY, KOTOPbIE YK€ YCTAHOBNEHHbI Ha GUTUHIK, UTO MO3BONAET COKPATUTL BPeEMSA
MOHTaa.

All of threads from this range (also the M5), have been equipped with tightening parts which allow the direct assembly of the fittings, reducing the
installation time.

O-Ring unnnHapuyeckon Pe3bboBoe ynnoTHeHMe
pe3bbbl ana “short”.
O-Ring of the parallel Thread packing for the
threads. “short” taper threads.

Bce npamble dutuHrn “short” nnn ¢ uunnHApUYecKoi pe3bboi MOryT MOHTUPOBATLCA C MOMOLLbBIO FAEYHOTO KNioya,
YTO MO3BOJIAET UCMOMb30BaTb UX B YC/IOBMAX OrPaHNYEHHOr0 NPOCTPaHCTBa.
All the straight fittings, with “short” and parallel threads can be assembled also with Allen wrench and it is possible

to use them in reduced spaces.
G
é

03 4 Aignep ocTaBnAeT 3a coboi NpaBo U3MEHATb MOZIEN Pasmepbl 6e3 yBeaoMneHns. OBHOBJIEHWE OT: 18 AMNPENA 2013
. Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18,2013

LUanra / Clamping washer

LlaHra coenaHa 3 Hepx<aBeloLleil cTanu, 1 obecrneymBaeT OTIMYHBINA 3aXXUM TPyObl 13
nio6oro matepuana 6e3 noBpexaeHnsi MOBePXHOCTU.

The washer is made in stainless steel ensures the perfect tube clamping with every Kinds
of materials without damage the surface.

CoepmnHeHne mexay Tpy6Koi 1 GUTUHIOM 06ecneynBaeT MosHY repMeTUYHOCTY faxe
npu ygapax v Bubpauun

The connection between the tube and the fitting ensure a total tightness even in severe
conditions such as impact and vibrations.

CneuvanbHas ¢opma ynnoTHeHns obecredrBaeT repMeTYHOCTb AaXKe B BaKyyme.
The particular geometric shape of the seal ensure the perfect tightness even with
vacuum.




Cepuna57000

57000

MPAMOE COEQVNHEHWE C BHELUHE PE3bBOW (SHORT) - STRAIGHT MALE ADAPTOR (SHORT)

Cote Toe A B L o o Pack.
*8900000003 4(5/32) 1/8 5.5 18 11 3 10
*8900000004 4(5/32) 1/4 7 19 14 3 10
5700000002 6 1/8 55 215 13 4 10
5700000003 6 1/4 7 21 14 4 10
5700000014 6 3/8 7.5 23 17 4 10
5700000015 6 1/2 9 235 21 4 10
*8900000008 8(5/16) 1/8 55 24.5 14 5 10
*8900000009 8(5/16) 1/4 7 22 14 6 10
*8900000010 8(5/16) 3/8 7.5 23 17 6 10
*8900000022 8(5/16) 1/2 9 235 21 6 10
5700000007 10 1/4 7 28 17 7 10
caz 5700000008 10 3/8 7.5 25.5 17 8 10
5700000017 10 1/2 9 26 21 8 10
5700000009 12 1/4 7 31.5 20 7 10
5700000010 12 3/8 7.5 29.5 20 9 10
5700000018 12 1/2 9 31.5 21 10 10
5700000019 14 3/8 7.5 325 21 9 10
5700000020 14 1/2 9 31.5 21 10 10
*OuUTnHrn cepun 89000 AnA [I0NMOBbIX TPY6
* [tems in common with series 89000 for inch tubes
MPAMOE COEAVHEHWE C BHELLHE PE3bBOW (SHORT) - STRAIGHT MALE ADAPTOR (SHORT) WITH EXAGON EMBEDDED
ih  Mbe A B < L Pack.
*8901000001 4(5/32) 1/8 7.5 10 19 3 10
5701000003 6 1/8 7.5 12 22.5 4 10
5701000004 6 174 1 14 24.5 4 10
‘ *8901000002 8(5/16) 1/8 7.5 14 255 5 10
* *8901000003 8(5/16) 1/4 11 14 25 6 10
* OuTrHrK cepun 89000 AnA [IONMOBbIX TPY6
* [tems in common with series 89000 for inch tubes
MPAMOE COEAMHEHWE C HAPY>KHOW PE3bBOV (UMTMHOPUYECKAS) - STRAIGHT MALE ADAPTOR PARALLEL WITH EXAGON EMBEDDED
b e A s < o e
5701000001 4 M5 4 10 21 2.5 10
5701000009 4  M7x1 5 10 21 2.5 10
- 5701000007 6 M5 4 12 245 25 10
/M A
M N_ CH
C
Aignep ocTaBnAeT 3a co60i NPaBO U3MEHATb MOZIEN Pasmepbl 6e3 yBeaoMneHNs. OBHOBJIEHWE OT: 18 AMNPENA 2013 03 .5

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18,2013



Cepwusa 57000

57020

NMPAMOE COEAVNHEHWE C HAPY>KHOW PE3bBOW (LNTMHIAPUYECKAS) - STRAIGHT MALE ADAPTOR (PARALLEL)

Kop Tpy6Ka A Ynak.

Code Tube B C L CH1  CH2 Pack.
5702000001 4 M5 4 8 21 10 2 10
5702000002 4 1/8 6 13 20 10 3 10
5702000022 4 1/4 8 16 19.5 16 3 10
5702000018 5 M5 4 8 23.5 12 2 10
5702000019 5 1/8 6 13 22 12 4 10
5702000020 6 M5 4 10 24.5 13 2 10
5702000003 6 1/8 6 13 235 13 4 10
5702000004 6 1/4 8 16 235 13 4 10
5702000027 6 3/8 9 20 25 13 4 10
cH1 5702000028 6 1/2 10 25 27 13 4 10
= 5702000005 8 1/8 6 13 25 14 5 10
% 5702000006 8 1/4 8 16 23 14 6 10
« 5702000007 8 3/8 9 20 24 14 6 10
f 5702000029 8 1/2 10 25 26.5 14 6 10
5702000008 10 1/4 8 16 30.5 17 6 10
5702000009 10 3/8 9 20 27.5 17 8 10
5702000031 10 1/2 10 25 27 17 8 10
5702000032 12 1/4 8 16 345 20 6 10
5702000011 12 3/8 9 20 34 20 8 10
5702000023 12 1/2 10 25 31 22 10 10
5702000024 14 3/8 9 20 35 21 10 10
5702000025 14 1/2 10 25 32 22 10 10
5702000012 6 M12x1 8 15 235 13 4 10
5702000013 6 M12x1.25 8 15 235 13 4 10
5702000014 6 M12x1.5 8 15 23.5 13 4 10
5702000017 8 M12x1.5 8 15 27.5 14 6 10
NMPAMOE COEAVNHEHWE BHYTPEHHAA PE3bBA - STRAIGHT FEMALE ADAPTOR
Cote Toe A B L pack
5703000008 4 M5 5.5 21 11 10
5703000001 4 1/8 8.5 24 13 10
5703000009 4 1/4 11 27.5 16 10
5703000006 5 1/8 8.5 26.5 13 10
< : h \ 5703000002 6 1/8 8.5 26 13 10
N A 5703000003 6 1/4 11 29.5 16 10
r ’ CH 5703000004 8 1/8 8.5 27 15 10
! M 5703000005 8 1/4 11 29.5 17 10
5703000010 8 3/8 12 32 19 10
5703000011 10 1/4 11 32 18 10
A 5703000012 10 3/8 12 335 19 10
5703000013 10 1/2 15 39 24 10
5703000014 12 3/8 12 36 21 10
5703000015 12 1/2 15 41 24 10
MPAMOE COEAVHEHWE - STRAIGHT CONNECTOR
Kon Tpybka Tpy6bka Ynak.
Code Tube Tube L B Pack.
*5704000001 4 (5/32) 305 10.5 10
5704000008 5 33 11.5 10
L 5704000002 6 4 32 125 10
5704000003 6 34 12.5 10
) 5704000004 8 6 35 14.5 10
\ “ W *5704000005 8 (5/16) 36 145 10
5704000011 10 8 405 175 10
5704000006 10 42 17.5 10
5704000012 12 10 455 205 10
5704000007 12 47 20.5 10
5704000010 14 49 21.5 10
*QuTuHrM cepmm 89000 AnA AONMOBbBIX TPY6
* [tems in common with series 89000 for inch tubes
03 .6 Aignep ocTaBnAeT 3a coboi NpaBo U3MEHATb MOZIEN Pasmepbl 6e3 yBeaoMneHns. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18,2013



Cepwua 57000

57050

MNEPEBOPOYHOE COEANHEHWE - BULKHEAD CONNECTOR

Tpy6ka Ynak.
L CK(;)(:IIJ‘e "l?zbe M L CH A max Pack.
A max *5705000001 _4(5/32)  Mi2x1 315 17 7 10
- 5705000006 5 Midx] 33 17 7 10
5705000002 6 M14x1 35 17 9.5 10
*5705000003 8 (5/16) __ M16xl 37 19 105 10
§ W 5705000004 10 M20x1 43 24 125 10
5705000005 12 M22x1 48 26 16.5 10

*OuUTUHIM cepyn 89000 AnA AONMOBbBIX TPY6
* Items in common with series 89000 for inch tubes

57100

YINOBOE COEAVMHEHME HAPYXHAA PE3bBA (KOHUYECKAS) - ELBOW MALE ADAPTOR (TAPER)

Con ey A B U 12 i D g

g 5710000001 4 M5 5 17 15 9 10 10

[’— 5710000002 4 18 75 17 155 9 10 10

o 5710000010 5 M5 5 20 17 11 125 10

5710000011 5 18 75 20 175 11 125 10

1 o 5710000003 6 18 75 21 175 11 125 10

o L 5710000012 6 4 11 21 215 11 125 10

- mr 5710000004 8 18 75 225 19 13 14 10

! 5710000005 8 174 11 225 215 13 14 10

5710000006 10 14 11 265 245 16 17 10

. 5710000007 10 38 115 265 24 16 17 10

5710000008 12 14 11 305 28 19 215 10

5710000009 12 38 115 305 28 19 215 10

YFNIOBOE MOBOPOTHOE COEAVMHEHWE BHYTPEHHSAS PE3bBA - ORIENTING ELBOW FEMALE ADAPTOR

Ll Son. T%V,Ega A B U 2 i1 2 D

) - 5710600001 4 18 85 18 20 9 13 10 10

: 5710600002 4 14 11 18 215 9 16 10 10

] < Q 5710600003 6 /8 85 21 205 1113 125 10

o| cr2 L 5770600004 6 /4 11 21 23 1116 125 10

- 5710600005 8  1/8 85 225 205 12 13 145 10

5710600006 8 1/4 11 225 23 12 16 145 10

57111

YINNOBOE NMOBOPOTHOE COEAVMHEHWVE HAPYXHAA PE3bBA (SHORT) - ORIENTING ELBOW MALE ADAPTOR (SHORT)

K Tpy6 ynak.
Code  Tupe A B LI 12 CH CH2 D pack

*8911100003 4(5/32)1/8 5.5 18 195 9 13 10 10
*8911100004 4(5/321/14 7 18 21 9 15 10 10

L1 5711100004 6 1/8 55 21 215 11 13 125 10
5711100005 6 1/4 7 21 23 11 15 125 10
*8911100008 8(5/16)1/8 55 225 225 12 13 145 10
*8911100009 8 (5/16)1/4 7 225 225 12 15 145 10
*8911100010 8(5/16)3/8 7.5 225 23 12 17 145 10
*8911100018 8(5/16)1/2 9 225 255 12 21 145 10
5711100010 10 1/4 7 265 265 14 16 175 10
5711100011 10 3/8 75 265 245 14 17 175 10
5711100012 10 1/2 9 265 27 14 21 17.5 10
A 5711100013 12 3/8 75 315 265 16 20 215 10
5711100014 12 1/2 9 315 29 16 21 215 10
5711100015 14 3/8 75 315 27 16 20 215 10
5711100016 14 1/2 9 315 295 16 21 215 10

*OuTnHrn cepun 89000 AnA [I0NMOBbIX TPY6
* Items in common with series 89000 for inch tubes

Aignep ocTaBnAeT 3a co60i NPaBO U3MEHATb MOZIEN Pasmepbl 6e3 yBeaoMneHNs. OBHOBJIEHWE OT: 18 AMNPENA 2013 03 7
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18,2013 .



Cepwusa 57000

57116

YINIOBOE NOBOPOTHOE COEANHEHWE HAPYXHAA PE3bBA (LMITMHOPUYECKAA) - ORIENTING ELBOW MALE ADAPTOR (PARALLEL)

S, T’ﬁi’gga A B L L2 CHl CH2 D o
5711600002 4 M5 35 18 175 9 8 10 10
5711600003 4 18 55 18 18 9 13 10 10
5711600004 4 1/4 7 18 18 9 6 10 10
5711600005 5 M5 35 20 20 11 11 125 10
5711600006 5 18 55 20 20 11 13 125 10
5711600007 6 M5 35 21 20 11 11 125 10
L1 5711600008 6 18 55 21 20 11 13 125 10
5711600009 6 1/4 7 21 215 11 16 125 10
CHL % 5711600010 8 18 55 225 21 12 13 145 10
ol 5711600011 8 1/4 7 225 215 12 16 145 10
- 5711600012 8 3/8 8 225 235 12 20 145 10
o 5711600013 8 12 95 225 25 12 25 145 10
A 5711600014 10 1/4 7 265 255 14 16 175 10
@ 5711600015 10 3/8 8 265 25 14 20 175 10
5711600016 10 12 95 265 265 14 25 175 10
5711600025 12 1/4 8 315 275 16 20 215 10
A 5711600017 12 3/8 8 315 27 16 20 215 10
5711600018 12 12 95 315 285 16 25 215 10
5711600019 14 3/8 8 315 275 16 20 215 10
5711600020 14 12 95 315 29 16 25 215 10
5711600021 6  Mi2x1 75 20 22 11 16 125 10
5711600022 6 M12x125 75 20 22 11 16 125 10
5711600023 6 Mi12x15 75 20 22 11 16 125 10
5711600024 8  M12x15 7.5 225 22 12 16 145 10

57126

YINOBOE NOBOPOTHOE COEAMHEHWVE HAPYXHAA PE3bBA (LMNNHOPUYECKAA) - EXTENDED ORIENTING ELBOW MALE ADAPTOR (PARALLEL)

Jon - Tpyora o, B LI L2 CHl CH2 D g
— 5712600001 4 1/8 55 18 30 9 1210 10
CHl 5712600002 4 4 7 18 32 9 15 10 10
= ] e 5712600003 5 1/8 55 20 345 11 12 125 10
5712600004 6 1/8 55 21 345 11 12 125 10
| CH2 5712600005 6 1/4 7 21 36 1115 125 10
5712600006 8 1/8 5 228 375 12 12 145 10
@ 5712600007 8 1/4 7 225 38 12 15 145 10
‘ 5712600008 8 3/8 8 225 40 12 18 145 10
A 5712600009 10 1/4 7 265 45 14 16 175 10
5712600010 10 3/8 8 265 445 14 18 175 10
YINOBOE COEAVMHEHWE - ELBOW CONNECTOR
K .
g C o et
L *5713000001 4 (5/32) 17 9 10 10
5713000006 5 20 11 125 10
5713000002 6 21 11 125 10
*5713000003 8 (5/16) 25 13 14 10
5713000004 10 265 16 17 10
5713000005 12 305 19 215 10
5713000008 14 325 19 215 10

*OuTUHrM cepmm 89000 ANA AOMOBbBIX TPYO
* [tems in common with series 89000 for inch tubes

03 8 Aignep ocTaBnAeT 3a coboi NpaBo U3MEHATb MOZIEN Pasmepbl 6e3 yBeaoMneHns. OBHOBJIEHWE OT: 18 AMNPENA 2013
o Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18,2013



Cepwua 57000

57200

TPOVHUK T-06paztbii HAPYXKHAA PE3bBA (KOHWYECKAS) - TEE MALE ADAPTOR (TAPER) CENTRE LEG

Code  Mbe A B U 12 D g
Ll 5720000001 4 M5 5 34 15 9 10 10
CH 5720000002 4 1/8 7.5 34 15.5 9 10 10
5720000010 5 1/8 7.5 40 17.5 11 12.5 10
M—%%\?m{ A 5720000003 6 1/8 7.5 42 17.5 11 125 10
~ o 5720000004 8 1/8 7.5 45 19 13 14 10
= m 5720000005 8 1/4 11 45 215 13 14 10
5720000006 10 1/4 11 53 24.5 16 17 10
A 5720000007 10 3/8 11.5 53 24 16 17 10
5720000008 12 1/4 11 61 28 19 215 10
5720000009 12 3/8 11.5 61 28 19 215 10

57211

TPOWHWK NMOBOPOTHbIV T-06pasHbiit HAPYKHAA PE3bBA (SHORT) - ORIENTING TEE MALE ADAPTOR (SHORT) - CENTRE LEG

K Tpy6 ynak.
Code Tbe A B L1 12 CHl CH2 D pack

*8921100003 4(5/32)1/855 34 20 9 13 10 10
*8921100004 4(5/32)1/4 7 34 215 9 15 10 10
5721100004 6 1/8 55 42 22 11 13 125 10
5721100005 6 1/4 7 42 235 11 15 125 10
*8921100016 8(5/16)1/85.5 45 255 13 13 145 10
*8921100015 8(5/16)1/4 7 45 255 13 15 145 10
*8921100017 8(5/16)3/8 7.5 45 26 13 17 145 10

\\\‘ihm e ;ﬁ

5721100010 10 /4 7 53 29 14 16 175 10
5721100011 10 3/8 7.5 53 27 14 17 175 10
5721100012 10 172 9 53 295 14 21 175 10
5721100013 12 3/8 75 625 295 16 20 215 10
5721100014 12 12 9 625 32 16 21 215 10

*QuTrHrM cepumm 89000 AnA AONMOBbIX TPYO
* [tems in common with series 89000 for inch tubes

57216

TPOVIHWK MOBOPOTHbIV T-06pazHbiit HAPYXKHASA PE3bBA (LWIMHAPUYECKAS) - ORIENTING TEE MALE ADAPTOR (PARALLEL) CENTRE LEG

Kog Tpy6bka Ynak.
Code Tube A B L1 L2 CH1  CH2 D Pack.

5721600002 4 M5 3.5 34 18 9 8 10 10

5721600003 4 1/8 55 34 18.5 9 13 10 10

5721600004 4 1/4 7 34 20 9 16 10 10

5721600005 5 M5 3.5 40 20.5 1 1 125 10

5721600006 5 1/8 55 40 20.5 11 13 125 10

5721600007 6 M5 3.5 42 20.5 11 11 12.5 10

5721600008 6 1/8 5.5 42 20.5 1 13 12,5 10

5721600009 6 1/4 7 42 22 11 16 125 10

5721600010 8 1/8 55 45 235 13 13 14.5 10

5721600011 8 1/4 7 45 24 13 16 14.5 10

‘:_‘1 5721600012 8 3/8 8 45 26 13 20 14.5 10
5721600013 8 1/2 9.5 45 27.5 13 25 14.5 10

5721600014 10 1/4 7 53 27.5 14 16 17.5 10

5721600015 10 3/8 8 53 27 14 20 17.5 10

A 5721600016 10 1/2 9.5 53 28.5 14 25 17.5 10
5721600017 12 3/8 8 625 295 16 20 21.5 10

5721600018 12 1/2 9.5 625 31 16 25 21.5 10

5721600019 14 3/8 8 625 295 16 20 215 10

5721600020 14 1/2 9.5 625 31 16 25 21.5 10

5721600021 6 M12x1 7.5 42 22 11 16 125 10

5721600022 6  M12x1.25 75 42 22 11 16 12.5 10

5721600023 6 M12x1.5 7.5 42 22 11 16 12.5 10

Aignep ocTaBnAeT 3a co60i NPaBO U3MEHATb MOZIEN Pasmepbl 6e3 yBeaoMneHNs. OBHOBJIEHWE OT: 18 AMNPENA 2013 03 .9

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18,2013



Cepwusa 57000

57223

TPOVHWK NMOBOPOTHbIV T-06pasHbiit HAPYXKHAS PE3bBA (SHORT) - ORIENTING TEE MALE ADAPTOR (SHORT) OFF - SET LEG

Ko, Tpy6ka Ynak.
ColL Lo A B L1 12 CHl CH2 D pook

*8922300003 4 (5/32) 1/8 55 17 20 9 13 10 10
*8922300004 4(5/32) 1/4 7 17 215 9 15 10 10

L L2
CH1 —‘E:H B 5722300004 6 1/8 5.5 21 22 11 13 12.5 10
a 5722300005 6 1/4 7 21 23.5 11 15 12.5 10

*8922300015 8 (5/16) 1/8 55 225 24 13 13 145 10
*8922300016 8 (5/16) 1/4 7 225 24 13 15 145 10
*8922300017 8 (5/16) 3/8 75 225 27 13 17 145 10

- 5722300010 10 1/4 7 265 26 14 16 175 10
T 5722300011 10 3/8 75 265 26 14 17 175 10

D 5722300012 10 1/2 9 265 285 14 21 175 10

5722300013 12 3/8 75 315 295 16 20 215 10

5722300014 12 1/2 9 31.5 32 16 21 215 10

*OuUTrHrn cepun 89000 AnA [I0NMOBbIX TPY6
* [tems in common with series 89000 for inch tubes

57226

TPOVHWK MOBOPOTHbIV T-06pasHbiit HAPYXKHAS PE3bBA (UNMHAPWUYECKAS) - ORIENTING TEE MALE ADAPTOR (PARALLEL) OFF - SET LEG

fon - Tpybra B LI L2 CHI CH2 D ¥
5722600002 4 M5 3.5 17 18 9 8 10 10
5722600003 4 1/8 5.5 17 18.5 9 13 10 10
5722600004 4 1/4 7 17 20 9 16 10 10
5722600005 5 M5 3.5 20 20.5 11 11 12.5 10
1 L2 5722600006 5 1/8 5.5 20 20.5 11 13 12.5 10
T 5 5722600007 6 M5 3.5 21 20.5 1 11 12.5 10
CH1 CcH2 5722600008 6 1/8 5.5 21 20.5 11 13 12.5 10
J 5722600009 6 1/4 7 21 22 11 16 12.5 10
] = « 5722600010 8 1/8 55 225 225 13 13 14.5 10
5722600011 8 1/4 7 225 23 13 16 14.5 10
3 5722600012 8 3/8 8 225 25 13 20 14.5 10
5722600013 8 1/2 9.5 225 265 13 25 14.5 10
5722600014 10 1/4 7 265 27 14 16 17.5 10
D 5722600015 10 3/8 8 265 265 14 20 17.5 10
5722600016 10 1/2 9.5 265 28 14 25 17.5 10
5722600017 12 3/8 8 315 295 16 20 215 10
5722600018 12 1/2 9.5 315 31 16 25 215 10
5722600021 6 M12x1 7.5 21 22 11 16 12.5 10
5722600022 6 M12x1.25 7.5 21 22 11 16 12.5 10
5722600023 6 M12x1.5 7.5 21 22 11 16 12.5 10
TPOMHWK T-o6pasHblit - TEE CONNECTOR
L1 Code b 12 Pack
*5723000001 4(5/32) 34 17 9 10 10
5723000006 5 40 20 11 12.5 10
5723000002 6 42 21 11 12.5 10
*5723000003 8(5/16) 45 225 13 14 10
5723000004 10 53 26.5 16 17 10
5723000005 12 61 30.5 19 215 10
5723000008 14 65.5 325 19 21.5 10
*OuTrHrn cepun 89000 AnA [I0NMOBbIX TPY6
5 7 3 1 O * [tems in common with series 89000 for inch tubes
POVHWK YobpasHbiit - Y CONNECTOR
A
Code it AL D Pack
*5731000001 4 (5/32) 11 32 11 10 10
5731000004 5 13.5 35 13 12.5 10
5731000002 6 135 365 13 12.5 10
*5731000003 8(5/16) 15.5 41 15 14 10
= 5731000008 10 18.5 48 18 17 10
*OuTuHrM cepmm 89000 AnA AONMOBbBIX TPY6
* [tems in common with series 89000 for inch tubes
D
03 .1 O Aignep ocTaBnAeT 3a coboi NpaBo U3MEHATb MOZIEN Pasmepbl 6e3 yBeaoMneHns. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18,2013



Cepwua 57000

57500

COEOVHEHWE BAHAXKO - SINGLE BANJO BODY

Kop Tpy6Ka Ynak.
Code Tube A B L CH D Pack.
5750000001 4 (5/32) M5 (10/32) 12.5 19 - 10 10
5750000002 4 M6 12.5 19 - 10 10
5750000003 4 (5/32) 1/8 15 21 14 10 10
L 5750000013 5 M5 12.5 20 - 12.5 10
5750000017 5 M6 12.5 20 - 12.5 10
5750000014 5 1/8 15 21.5 14 12.5 10
CH 5750000015 5 1/4 17 245 18 125 10
5750000016 6 M5 125 205 - 12.5 10
5750000018 6 M6 125 205 - 12.5 10
2] 5750000004 6 1/8 15 22 14 12.5 10
5750000005 6 1/4 17 25 18 12.5 10
5750000006 8 1/8 15 24 14 14 10
5750000007 8 1/4 17 26 18 14 10
A 5750000008 8 3/8 20 28 21 14 10
5750000009 10 1/4 17 29 18 17 10
5750000010 10 3/8 20 30.5 21 17 10
5750000012 12 3/8 20 325 21 21.5 10
5750000021 12 1/2 24 35 25 21.5 10
5750000022 14 1/2 24 35.5 25 21.5 10
*OuTnHrM cepun 89000 AnA AloNMOBBIX TPYO
5 7 5 1 O * ltems in common with series 89000 for inch tubes
COEOVHEHWE BAHKO - DOUBLE BANJO BODY
L Eh ™R 4 s L w0 o=
5751000001 4 M5 12.5 38 - 10 10
cH 5751000002 4 M6 12.5 38 - 10 10
5751000003 4 1/8 15 42 14 10 10
o ﬂlﬂl ﬂ;j? m’" o 5751000008 5 1/8 15 43 14 12.5 10
&% \Jléu M 5751000009 5 /4 17 49 18 125 10
5751000004 6 1/8 15 44 14 12.5 10
A 5751000005 6 1/4 17 50 18 12.5 10
5751000006 8 1/8 15 48 14 14 10
5751000007 8 1/4 17 52 18 14 10

57550

COE[IMHEHUE BAHIXO C HAPYXKHOW PE3bBOW (LMNNHOPUYECKAS) - ORIENTING SINGLE BANJO BODY MALE

Cote oo B L L G oo D pa
5755000001 4 M5 5 19 245 - 9 10 10
L1 5755000002 4 1/8 6 21 28 5 14 10 10
CH 5755000012 5 M5 5 20 245 - 9 12.5 10
5755000013 5 1/8 6 215 28 5 14 12.5 10
—— 5755000014 5 1/4 8 245 31 6 18 12.5 10
5755000015 6 M5 5 205 245 - 9 12.5 10
« re 5755000003 6 1/8 6 225 28 5 14 12.5 10
5755000004 6 1/4 8 25 31 6 18 12.5 10
5755000005 8 1/8 6 24 28 5 14 14 10
® 5755000006 8 1/4 8 26 31 6 18 14 10
5755000007 8 3/8 9 28 355 7 21 14 10
A 5755000008 10 1/4 8 29 31 6 18 17 10
D1 5755000009 10 3/8 9 305 355 7 21 17 10
5755000011 12 3/8 9 325 355 7 21 215 10

57560

COEANHEHME BAHIXXO C HAPYXXHOW PE3bBOV (LUMNNHAPWYECKAS) - ORIENTING DOUBLE BANJO BODY MALE

Kog Tpy6Ka Ynak.
Code Tube B L1 L2 D1 CH D Pack.
L 5756000002 4 1/8 6 42 27 14 5 10 10
5756000008 5 1/8 6 43 27 14 5 12.5 10
CHX 5756000009 5 1/4 8 49 31 18 6 125 10
=N 5756000003 6 1/8 6 45 27 14 5 12.5 10
N ; n o 5756000004 6 1/4 8 50 31 18 6 12.5 10
& A 5756000005 8 1/8 6 48 27 14 5 14 10
- 5756000006 8 1/4 8 52 31 18 6 14 10
o
A
D1
Aignep ocTaBnAeT 3a co60i NPaBO U3MEHATb MOZIEN Pasmepbl 6e3 yBeaoMneHNs. OBHOBJIEHWE OT: 18 AMNPENA 2013 03 -I -I

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18,2013



Cepwusa 57000

51410

BONT BAHXKO OAVNHAPHbI - BANJO STEM SINGLE

. Cone A B C L cH Pack

5141000011 M5 4 125 22 8 25

1 5141000012 M6 5 125 23 8 25

a8 5141000013 1/8 6 15 28 14 25

,‘“gmv ' . 5141000014 1/4 8 17 32 17 25

<N = - 5141000015 3/8 9 20 36 19 25

w ﬁ 5141000016 1/2 10 24 42 24 25
g N 5141000017 *M12x1.58 17 32 17 25

JAHHOE W3AENIME MOCTABJIAETCA C LIAHIOW PA66 (ART. 1610).
THIS ITEM WILL BE SUPPLIED WITH THE PA66 WASHERS (ART. 1610).

*NCNONb3YETCA B MOBOPOTHbIX COEAVHEHUAX BAHIPKO 1/4.
*WITH THIS BANJO STEM USING 1/4 ORIENTING BANJO BODY.

51420

BONT BAHIXO ABOVMHOW - BANJO STEM DOUBLE

: Cote A B C L Pack
5142000011 1/8 6 15 44.5 14 25
5142000012 1/4 8 17 50.5 17 25
5142000013 3/8 9 20 58 19 25
_\‘ 5142000014 1/2 10 24 68 24 25
E 5142000015 *M12x1.5 8 17 50.5 17 25

JIAHHOE U3JENIVE NOCTABJIAETCA C LIAHTOW PAG66 (ART. 1610).
THIS ITEM WILL BE SUPPLIED WITH THE PA66 WASHERS (ART. 1610).

00

o

*CON QUESTA VITE UTILIZZARE GLI ANELLI ORIENTABILI DA 1/4.
*CNONb3YETCA B MOBOPOTHbIX COEANHEHUAX BAHAXO 1/4

51430

BONT BAHXO TPONHOW - BANJO STEM TRIPLE

Code A B Cc L Pack
1 5143000011 1/8 6 15 61 14 25
5143000012 1/4 8 17 69 17 25
5143000013 3/8 9 20 80 19 25
5143000014 1/2 10 24 94 24 10

[IAHHOE U3JENVE NMOCTABJIAETCA C LIAHTOW PAG6 (ART. 1610).
THIS ITEM WILL BE SUPPLIED WITH THE PA66 WASHERS (ART. 1610).

N

(

4

51440

BONT BAHAXKO - MALE - FEMALE BANJO STEM SINGLE
cH A1

Cote Am B C D L e
[ ] a 5144000001 1/8 1/8 6 15 85 345 14 25
L 5144000002 1/4 1/4 8 17 11 40.5 17 25
5144000003 3/8  3/8 9 20 12 455 19 25
- JIAHHOE W3JENIVEE MOCTABJIAETCA C LIAHTOW PAG6 (ART. 1610).

THIS ITEM WILL BE SUPPLIED WITH THE PA66 WASHERS (ART. 1610).

o
S =
N

03 -I 2 Aignep ocTaBnAeT 3a coboi NpaBo U3MEHATb MOZIEN Pasmepbl 6e3 yBeaoMneHns. OBHOBJIEHWE OT: 18 AMNPENA 2013
. Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18,2013



Cepwua 57000

50600

COEOVHEHWE HAPYKHAA PE3bBA (UMITMHOPUYECKASA) - MALE ADAPTOR PARALLEL

Cote D A B Lu o
5060000001 4 M5 4 24 15 8 10
5060000002 4 1/8 6 26.5 15 13 10
D 5060000012 5 M5 4 26 17 8 10
et N 5060000013 5 1/8 6 28.5 17 13 10
5060000014 5 1/4 8 31 17 16 10
M - 5060000015 6 M5 4 26 17 8 10
‘ . cH [ 5060000003 6 1/8 6 28.5 17 13 10
. \ 5060000004 6 1/4 8 31 17 16 10
’_% 5060000005 8 1/8 6 29.5 18 13 10
- 5060000006 8 1/4 8 32 18 16 10
5060000007 8 3/8 9 335 18 20 10
A 5060000016 10 1/8 6 335 22 13 10
5060000008 10 1/4 8 36 22 16 10
5060000009 10 3/8 9 375 22 20 10
5060000010 12 1/4 8 385 245 16 10
5060000011 12 3/8 9 40 245 20 10
NONMMAMWAHAA 3ATTTYLLKA - POLYAMIDE PLUG
Kop Tpy6ka Ynak.
Code Tube L Pack.
086100031X0RO 3 18 25
086100031X1RO 4 235 25
] 086100031X3RO 5 24.5 25
086100031X4RO 6 245 25
086100031X7RO 8 26 25
086100031X9RO 10 285 25
086100031Y1RO 12 285 25
086100031Y3RO 14 28.5 20
[BOVIHOE COEAHEHWE - DOUBLE JOINT
Kog Tpy6Ka Ynak.
Code Tube L Pack.
— 506250001XTNB 4 31 10
506250001X3NB 5 33 10
506250001X4NB 6 34 10
‘ A 506250001X7NB 8 36 10
506250001X9NB 10 45 10
— 506250001Y1NB 12 50 10
MNMEPEXOAHWK - REDUCER
: Cote A B L © Pack
B 5770000004 5 4 29 12.5 10
j 5770000001 6 4 30 12.5 10
Nt 5770000005 6 5 32 125 10
E 5770000008 8 4 33 14 10
] 5770000002 8 6 34 14 10
‘\, : 5770000009 10 4 32 17 10
A 5770000003 10 8 38 17 10
5770000007 12 8 39 215 10
L 5770000010 12 10 43 17.5 10
A
Aignep ocTaBnAeT 3a co60i NPaBO U3MEHATb MOZIEN Pasmepbl 6e3 yBeaoMneHNs. OBHOBJIEHWE OT: 18 AMNPENA 2013 03.1 3

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18,2013



JAIGNEP

Cepua 57000

57800

OUTUHT-KAPTPUIX - PUSH-FIT CARTRIDGES

«» =
N
\_/g

\_/‘*’ D

H1

H2

D4 +0.05

402
i

H3

55801

CBEPIIO
TOOL FOR PUSH-FIT CARTRIDGES SEAT

Cote e D W H Pack
5780000001 4 8.7 104 56 25
5780000002 5 975 118 63 25
5780000003 6 1075 124 69 25
5780000004 8 127 124 69 25
5780000005 10 157 157 85 25
5780000006 12 183 178 9.5 25

57800

SEDE - SEAT

MOCALOYHbIE PASMEPBI MO OUTUHI_KAPTPUAMKSEATS DIMENSIONS
PUSH-FIT CARTRIDGES

Tpy6Ka

Tube D1 D2 D3 D4 H1 H2 H3 R
4 4.2 7.45 8.4 9 3.75 6.5 9.5 0.5
5 5.2 8.35 9.4 1015 445 7.9 10.5 0.5
6 6.2 9.35 1045 1135 5 8.5 115 0.5
8 8.2 11.4 124 129 5.2 85 12.5 0.75
10 10.2 14.5 15.4 16 6.7 10.5 15 0.75
12 12.2 17 18 19 7.5 12.1 17 1

55802

WNHCTPYMEHT ANA YCTAHOBK/ OUTUHTA-KAPTPUOXKA
ASSEMBLING TOOL FOR PUSH-FIT CARTRIDGES

Kog Tpybkag  Kopnyca Ynak.

Code Tube o Body Pack.

5580100001 4 10 1

y 5580100006 5 12 1

\ 5580100002 6 12 1
’ 5580100003 8 12 1
o 5580100004 10 16 1
5580100005 12 16 1

5580200006 10

Kogn Tpy6Ka Ynak.

Code Tube Pack.
5580200002 4 1
5580200003 5 1
5580200004 6 1
5580200005 8 1
1
1

5580200007 12

NHCTPYKLMA MO YCTAHOBKE OUTUHIA-KAPTPUAMA ART. 57800
PUSH-FIT CARTRIDGES ASSEMBLING INSTRUCTIONS ART. 57800

MpocBepnute oTBepcTme C
nomouybto ceepna Art. 55801
Make the seat for

the cartridge utilizing
the suitable tool Art. 55801
(]

!

YcTaHOBMTE MNpPOKNapKy
B oTBepcCTUE.
Insert the lip seal
inside of the seat.

MOMECTWUTE KAPTPUAX B
WNHCTPYMEHT AJ19 YCTAHOBKN

Art. 55802

Insert the cartridge into
the assembling

Art. 55802

tool

3anpecyinte KapTpuax npwu
NOMOLWN WHCTPYMEHTa AN
YCTaHOBKM B MNOCafioyHoe
oTBepcTMe AO ynopa.
Press the cartridge inside
of the seat until it will be
reached the abutment surface
with the assembling tool.

03.14

Aignep ocTaBnAeT 3a coboi NpaBo U3MEHATb MOZIEN Pasmepbl 6e3 yBeaoMneHns. OBHOBJIEHWE OT: 18 AMNPENA 2013
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18,2013



Cepwua 57000

50980 NEW

CTOIMOPHASA KITUMCA - SECURITY CLIPS

Kopn Tpy6ka Ynak.
Code Tube Pack.
509800032X1RO 4-(5/32) 50
509800032X3RO 5 50
509800032X4RO 6-(1/4) 50
509800032X7RO 8-(5/16) 50
509800032X9RO 10-(3/8) 50
509800032Y1RO 12-(1/2) 50
509800032Y3RO 14 50
CbEMHWUK - TOOL FOR DISASSEMBLING
5 , Kon Ynak.
= 5 - Code Pack.
o 5099000001 10
(.
PE3bBOBbIE YMIOTHEHMA - THREAD PACKING FOR TAPER THREADS
Kon Pe3bba Ynak.
Code Thread Pack.
5000600240200 1/8 10
O o 1B 5000600240300 1/4 10
B 5000600240400 3/8 10
5000600240500 1/2 10
Aignep ocTaBnAeT 3a co60i NPaBO U3MEHATb MOZIEN Pasmepbl 6e3 yBeaoMneHNs. OBHOBJIEHWE OT: 18 AMNPENA 2013 03 -I 5
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18,2013 .



Cepua 57000

Note:

03 -I 6 Aignep ocTaBnAeT 3a coboi NpaBo U3MEHATb MOZIEN Pasmepbl 6e3 yBeaoMneHns. OBHOBJIEHWE OT: 18 AMNPENA 2013
. Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



